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The answer to each question is in parenthesis at the beginning of each solution.

1) (b or sometimes) 7>6 and -2>-3 where -14>-18. 10>6 and -2>-3 but -20<-18.

2) (3 and -2) (x+3)x—3 = 1 when the exponent = 0 (x = 3) or when x+3 =1 (x = -2).
[(x+3)xn2 = 1 would have 3 solutions since the exponent is even when x+3 = -1 o
3): (b ok 6v‘2) The diagonal of the large square is 10/ 2 (by the Pythagorean Theorem).

The diagonal of the small square is 4 l_—. lOV 2 -4 f3-= 61/2 .

4).. (6 6S2 = S® when S = 6 . For S<6, the number of square units in the S.A. is
greater than the number of cubic units in the volume.

5) (605 eb.beiac » 10:12-50 = 3600, a’b"c” = 3600 ; abe =60 . or; — === =,

e ay? = 12 : B=32, Ifb =3, c=Gamda=35 abe* 60,

6) (31) Let x = the number of kids ahead of John. x = the number of kids behind John.
Therefore, x + 1 = the number of kids on the merry-go-round.
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5 X +-% x =x+1; x =30 and x+1 = 31 kids on the merry-go-round.



